

FLOOR PLAN ROOM DETAILS						
DETAILS	LENGTH @ FEET	WIDTH @ FEET	TOTAL SFT	TOTAL @ Square Meter		
STILT FLOOR						
SERVER AND CCTV ROOM	15 FEET 6 INCHES	13 FEET 4 INCHES	206.62	19.195		
COMMUNICATION ROOM	13 FEET 2 INCHES	9 FEET 10 INCHES	129.36	12.018		
ELECTRICAL ROOM	13 FEETS	9 FEET 10 INCHES	127.79	11.872		
SPORTS ROOM	17 FEET 5 INCHES	15 FEET 4 INCHES	266.90	24.795		
STORE ROOM	33 FEETS	16 FEETS	528.00	49.051		
STORE ROOM	20 FEETS	10 FEET 9 INCHES	215.00	19.974		
SECURITY ROOM	14 FEETS	6 FEETS	84.00	7.804		

GROUND FLOOR				
DETAILS	LENGTH @ FEET	WIDTH @ FEET	TOTAL SFT	TOTAL @ Square Meter
VICE CHAIRMAN ROOM	20 FEETS	15 FEET 7 INCHES	311.60	28.948
PRINCIPAL ROOM	20 FEETS	14 FEET 10 INCHES	296.60	27.554
VICE PRINCIPAL ROOM	18 FEET 8 INCHES	12 FEETS	223.92	20.802
ACCOUNTS ROOM	20 FEETS	15 FEET 8 INCHES	313.20	29.096
PANTRY ROOM	6 FEET 6 INCHES	4 FEET 6 INCHES	29.25	2.710
LIBRARY	41 FEET 4 INCHES	27 FEET 2 INCHES	1205	111.5
CHEMISTRY LAB	41 FEETS	20 FEETS	820.00	76.178
RECEPTION AREA - LOUNGE	27 FEET 2 INCHES	20 FEETS	543.20	50.463
CLASS ROOM - 1	28 FEETS	21 FEET 4 INCHES	597.24	55.484
CLASS ROOM - 2	28 FEETS	20 FEET 8 INCHES	578.48	53.741
CLASS ROOM - 3	28 FEETS	20 FEETS	560.00	52.024
CLASS ROOM - 4	26 FEET 6 INCHES	20 FEETS	530.00	49.237
CLASS ROOM - 5	26 FEET 8 INCHES	20 FEETS	533.20	49.534
	FIRST FLOOR			
CLASS ROOM - 6	28 FEETS	20 FEETS	560.00	52.024
CLASS ROOM - 7	27 FEET 10 INCHES	20 FEET 8 INCHES	574.97	53.415
CLASS ROOM - 8	27 FEET 10 INCHES	20 FEETS	556.60	51.708
CLASS ROOM - 9	27 FEETS	20 FEETS	540.00	50.166
CLASS ROOM - 10	28 FEETS	20 FEETS	560.00	52.024
CLASS ROOM - 11	28 FEETS	20 FEETS	560.00	52.024
PANTRY ROOM	6 FEET 6 INCHES	4 FEET 6 INCHES	29.25	2.710
SICK ROOM	13 FEET 6 INCHES	12 FEETS	162.00	15.050
STAFF ROOM	29 FEET 2 INCHES	20 FEETS	583.20	54.179
COMPUTER LAB	41 FEET 4 INCHES	17 FEET 5 INCHES	719.56	66.847



SECOND FLOOR				
DETAILS	LENGTH @ FEET	WIDTH @ FEET	TOTAL SFT	TOTAL @ Square Meter
CLASS ROOM - 12	27 FEET 10 INCHES	20 FEETS	556.60	51.708
CLASS ROOM - 13	27 FEET 10 INCHES	20 FEET 8 INCHES	574.97	53.415
CLASS ROOM - 14	26 FEET 8 INCHES	20 FEETS	533.20	49.534
CLASS ROOM - 15	26 FEET 8 INCHES	20 FEETS	533.20	49.534
COUNSELOR ROOM	28 FEETS	21 FEETS	588.00	54.625
ART ROOM	41 FEET 4 INCHES	17 FEET 5 INCHES	719.56	66.847
LOUNGE AREA	28 FEET 6 INCHES	20 FEET 8 INCHES	588.81	54.700
DANCE ROOM	42 FEET 6 INCHES	20 FEETS	850.00	78.965
-	THIRD FLOOR			
CLASS ROOM - 16	27 FEET 8 INCHES	20 FEETS	553.20	51.392
CLASS ROOM - 17	27 FEET 6 INCHES	20 FEETS	550.00	51.095
CLASS ROOM - 18	27 FEET 6 INCHES	20 FEETS	550.00	51.095
CLASS ROOM - 19	27 FEET 6 INCHES	20 FEETS	550.00	51.095
CLASS ROOM - 20	27 FEET 6 INCHES	20 FEETS	550.00	51.095
CLASS ROOM - 21	27 FEET 6 INCHES	20 FEETS	550.00	51.095
COMPOSITE LAB	28 FEETS	22 FEET 4 INCHES	625.24	58.085
BIOLOGY LAB	41 FEET 4 INCHES	17 FEET 5 INCHES	719.56	66.847
PHYSICS / ROBOTICS LAB	42 FEET 6 INCHES	20 FEETS	850.00	78.965
TE	RRACE FLOOR			
MATHS LAB	27 FEET 8 INCHES	21 FEET 2 INCHES	590	55.8



BUILDING BUILDUP AREA @ FLOOR WISE						
DETAILS	LENGTH @ FEET	WIDTH @ FEET	TOTAL SFT	TOTAL @ Square Meter		
STILT FLOOR	114	105.6	12027	1117.34		
GROUND FLOOR	114	105.6	12027	1117.34		
FIRST FLOOR	114	105.6	12027	1117.34		
SECOND FLOOR	114	105.6	12027	1117.34		
THIRD FLOOR	114	105.6	12027	1117.34		
TERRACE SPORTS ROOM - OH TANK BELOW SLAB	33.6	32.6	1088.75	101.15		
RAMP AREA	114	16.9	1909.50	177.40		
RAMP AREA TOP	16.6	35	577.50	53.65		
HEAD ROOM - 2nd STAIR CASE	22.3	16.8	370.69	34.44		
TOTAL BUILDUP AREA			64081.44	5953.36		
GARDEI	GARDEN AND PLAY AREA DETAILS					
DETAILS	LENGTH @ FEET	WIDTH @ FEET	TOTAL SFT	TOTAL @ Square Meter		
BIG LAWN AREA	210.6	113	23786.50	2209.84		
SMALL LAWN AREA	114.6	48.6	5553.25	515.91		
BASKETBALL COURT	95	55	5225	485.42		
TOTAL GARDEN PLA	YAREA		34564.75	3211.17		



WASH BASIN DETAILS				
DETAILS	NO.OF WASH BASIN'S			
STILT FLOOR				
STAFF TOILETS - DRIVERS & MAIDS	2			
GROUND FLOOR				
CHAIRMAN ROOM	1			
PRINCIPAL ROOM	1			
VICE - PRINCIPAL ROOM	1			
LADIES STAFF TOILET	1			
BOYS STAFF TOILET	1			
CHILDRENS GIRLS TOILETS	2			
CHILDRENS BOYS TOILETS	2			
FIRST FLOOR				
CHILDRENS BOYS TOILETS	2			
LADIES STAFF TOILET	1			
BOYS STAFF TOILET	1			
CHILDRENS GIRLS TOILETS	2			
SECOND FLOOR				
CHILDRENS BOYS TOILETS	2			
STAFF TOILETS	1			
THIRD FLOOR				
STAFF TOILETS	1			
CHILDRENS GIRLS TOILETS	2			
CHAIRMAN ROOM	1			
BIOLOGY LAB	2			
ART & CRAFT ROOM	1			
CHEMISTRY LAB	3			
GRAND TOTAL WASH BASIN DETAILS	30			



WC DETAILS				
DETAILS	NO.OF WC			
STILT FLOOR				
STAFF TOILETS - DRIVERS & MAIDS	3			
GROUND FLOOR				
CHAIRMAN ROOM	1			
PRINCIPAL ROOM	1			
VICE - PRINCIPAL ROOM	1			
LADIES STAFF TOILET	1			
BOYS STAFF TOILET	1			
CHILDRENS GIRLS TOILETS	7			
CHILDRENS BOYS TOILETS	6			
FIRST FLOOR				
CHILDRENS BOYS TOILETS	6			
LADIES STAFF TOILET	1			
BOYS STAFF TOILET	1			
CHILDRENS GIRLS TOILETS	7			
SECOND FLOOR				
CHILDRENS BOYS TOILETS	6			
STAFF TOILETS	1			
THIRD FLOOR				
STAFF TOILETS	1			
CHILDRENS GIRLS TOILETS	10			
CHAIRMAN ROOM	1			
GRAND TOTAL WC DETAILS	55			



PARKING AREA DETAILS					
LENGTH @ WIDTH @ TOTAL TOTAL @ Square   DETAILS FEET FEET SFT Meter					
PARKING AREA(BUILDING BACK SIDE) - PHASE - 2 & 3	141 FEETS	125 FEETS	17625	1637.41	

CHILDRENS & STAFF REST ROOM'S DETAILS					
DETAILS	NO.OF REST ROOMS	LENGTH @ FEET	WIDTH @ FEET	TOTAL SFT	
STILT FLOOR					
STAFF TOILETS - DRIVERS & MAIDS	4	5 FEET	4 FEET 9 INCHES	95	
GROUND FLOOR					
CHAIRMAN ROOM	1	9 FEET 9 INCHES	4 FEET 9 INCHES	46.31	
PRINCIPAL ROOM	1	8 FEET 8 INCHES	5 FEET	41.82	
VICE - PRINCIPAL ROOM	1	7 FEET 10 INCHES	4 FEET 10 INCHES	37.81	
LADIES STAFF TOILET	1	6 FEET 6 INCHES	4 FEET 6 INCHES	29.25	
BOYS STAFF TOILET	1	7 FEET	6 FEET 6 INCHES	45.5	
CHILDRES GIRLS TOILETS	7	4 FEET 9 INCHES	3 FEET 2 INCHES	105.07	
CHILDRES BOYS TOILETS	6	5 FEET	3 FEET 2 INCHES	94.8	
FIRST FLOOR					
CHILDRES BOYS TOILETS	6	5 FEET	3 FEET 2 INCHES	94.8	
CHILDRES GIRLS TOILETS	7	5 FEET	3 FEET 2 INCHES	110.6	
LADIES STAFF TOILET	1	6 FEET 6 INCHES	4 FEET 6 INCHES	29.25	
BOYS STAFF TOILET	1	7 FEET	6 FEET 6 INCHES	45.5	
SECOND FLOOR					
CHILDRES BOYS TOILETS	7	5 FEET	3 FEET 5 INCHES	119.35	
STAFF TOILETS	1	10 FEET 8 INCHES	4 FEET 10 INCHES	51.48	
THIRD FLOOR					
CHILDRES GIRLS TOILETS	11	5 FEET	3 FEET 5 INCHES	187.55	
STAFF TOILETS	1	10 FEET 8 INCHES	4 FEET 10 INCHES	51.48	
ROOM	1	7 FEET 5 INCHES	6 FEET 6 INCHES	48.16	
GRAND TOTAL STAFF & CHILDRES REST ROOM'S DETAILS	58			1233.73	